	Jar test 

Flocculation treatment control
First step: To measure raw water turbidity. If tubidity > 5 NTU, a treatment is needed.
Aluminium mother solution: 1 % = 10 g / l = 10.000 ppm 




or ≈ 1 spoon / litre clean water
Jars: 1litre raw water (AB) + X ml mother solution.

          Vigorously stir for 10 min. and leave the solution to settle for   30 min.  Measure turbidity.
Example: 6 jars with: 15 ml, 10 ml, 7 ml, 5 ml, 3 ml, 1 ml. 

  (Check the formation of floccules in the jar with 15 ml.) 
Turbidity after 30 min

Jar 15 ml

Jar 10 ml

Jar 7 ml

Jar 5 ml

Jar 3 ml

Jar 1 ml

< 5 NTU

< 5 NTU

<  5 NTU

 8 NTU

15 NTU

30 NTU

  Choose the lowest possible dosage with turbidity  5 NTU 

Calculation of  tank dosage: Example 30.000 litre Seine tank  

[7 ml jar x tank vol. (30.000 litres)] /100 =   2100 g alumina
[7 ml jar x tank vol. (30.000 litres)] /1000 =  210 spoons 

Dosage: Fill 1/3 of the tank. Slowly add one bucket with solution (70 spoons of aluminium). Try to achieve a good mixture. Repeat the process two more times. Alternatively, use an automatic dosage system.

Wait 30 min and carefully use the top water without stirring the sludge.
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